1. Hemw many of following compound of XKenonh hawve oma kone painon cenlial Slom :
By, Kpli; KelhFp XelF,, Xafa
Ans. |3}

Sl M0y, MOz, MelhFo, XeOF,;, KaF,”
mnuimiser of ke pair of sleciron on ceniliat o

K=l ﬁ Py tarmic il il
cf‘T-“u
F
XeOF ; ﬂ%a‘bﬂ [T-soppe) el
F
EelaFs = e E | {1]
XeOF, FHEE,/T (Souare pryramidal) 'Ry
jl.
ﬁ’r’:ﬁ.
[HeFsf Hfif (Pantagunal Plannsr) 12
Z. Thee suim of oxifadion nomber of Senibtal abom in [Fe(COk], WO, Wik s
Ans, [10)
Sal. [Fed| SO ] cidaian nusnbes of Fe = 0
VO oxidalion number of Vo= ed
Wi caichation numbseral W = 8
3. Statement — 1 Mellsl amangs is 9 weak acid.

Statement — Il - Beqzenoid farm ol meliyl arsnge have mdre indense aolour Thean il cuindnomd foam
oy L bagis of afrove stalsmenl idenlfy comed oplion -

(1) Stadermnent-1 = correcl snd Statement — 0 is ncormed.

[ 2} SEatermenl-1 i Ensornest and Slalsmend-il Eoomecl.

(3} Bolh sdalerisenly 1| and 1| dre corecl

{4} Bollh stajermeniz | acd || are idorretl.
Ans, (2}
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A=,

Sal.

Ans,

Ans,

OO o DO
. . — MH-
0h3 Mt H"EH-__ by N\‘Ci'l‘:

Beapareristid fegrm of Aidan Chuinondnd faem of B anisn
iweflow in cobour ) [Pinkizh red in colaiar
Methyl oranps s basss n r=iure
MelH i Me' = OH
Yelhow Fag]

The suin ol oand = boed in pyrophosphon aoed s
(14}
Pyrophosphinc acd — AP ;0.

HFu
B incaniceis gl

Mumbser ol o bond = 12

Mumbs=r af & bond = 2

In gocod guslity cermend ralic af Fire stone b biisl orides of <ikoon (200 3 Lalumina]fl ;0] amd iran [Fe04)
shiould Beckiss o

(1)1 (22 [3}3 144

2}

For & good quslily cemenl Bie o of sleea (Si0:) b ahurming AL D) should be betwesn 2.5 and 4 and
the ratio of lime {Cad} to the total of the oxides of silicon (580} slominivm (&l0y) and iron |FeaDy)
should be as clos# a5 possibie 1o 2.

Which of the following relalicniship k= corredt bebween Z &nd v dhuring bombardmeent af eheoiron on meial

Larget.
F Y

(13 (2 2

[ 3h {2}

A Z
i1}

Diuririg Bosnifandrnend of eleclrmin on rmetal surlsce

E'-qr'._
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T:

Ans.

fins,

Ans.
Sol.

Which of [he Tollwing graph & comest reganding without aﬂl_ wilh preseoce of satabesd.
J.:'"' "‘-rl— With catabyst

Progress of rmacion

A— Withourt catalyst

| S N

(b (2}

—
Progress of reacton Progress of reacion
1)

A calalyst drives The resclion roush a low energy peth and hence Ea s less. That is, the funclion of fe
catlalyst & 10 lowes down e aciivalion energy.

E, - Erergy of activaiion n abeence of satiys!

E's = Enefgy of aclvalion in presense of calahyst

Es - E'n= lismerirg of selivation snegy by catalyst

Which of the Tollowing is respenaible for reducfion of AlxT-in Hall-Hesoull process

(13 Graphile

2k CaFg

(3} MasAlFa

(4} Mg

A

Elecimlytic reduction {Hall-Heroult process) :

The purified ALD, s mixed wilh NaAlFy (eryoiile) or CaF; (Musrspes) which veers T melling point of
e mitlure and Brimds comduslivity. The kised raldx s slecinolyeed. Stesl calhode sl graphile anode

are usetl. The graphite anode is uss=ful bere for reduction to the metal. The overall reaction may
be taken a5 :  ZAL0y # 30— dAl + A0y

The electolysis of the molten mass = carried out in an elecirolytic cell using carbon elecirodes.

In hall Heroult process graphite is act as reducing agent

Compdex ion Mn{NCS),]*~ has magnelic moment (spin only) 6,08 BM. The valus of X is
i5)
Ot tha biasie maghelic momern number of unpaired skeelron = §
shi = 3d° 457
o Mnt! e 3 ga
BOMNCSL]- = 118 - X

S0 =B cormiplex s [Fl.llrl{HEE:IE]’"
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10

Column-l Columndl
[Comglex) {No. of unpaired elctron)
i} {CriCM {2} 0
fii} [FefHz0kF" ibj 2
i) i N 2] ich3
fiv) [CoiNH::F {dj 4
(1) i, (i (@j-b, (v}-a {2} (-, {i-b, -, (v-d
(3} {2, [ijl-c. {H)-b, {iv)-a (4] [, {ii)—a, (52, fiv)-d
Ans. (1)
Sal. coimba fon W rumber of unprsred Secknon
i) SN #GE el o e 3
fil} [Fe[ HO sF w38 oIl A 4
iE) [NifNHz)eF" mN= =30 =T e z
fiv] PCoiNHajeP" O =B = 5T ey o

11. The baoiling point of Iwo solvenl X and Y are 0 e radio al 2 21 and Beir enthalpy of sepatisaion i in fhs
risfio af 1 1 20 Find lhe matio af elevision in Boilihg poinl when same moles of sokibles afe added 1o the
same irEss al Balh e Salvend, I lhe mokar mass of X is Babos laat ol Y

Ans. (18]
Sol, AT.=Kem  Kibs RID M s
100MH,,

- +F : 3
faTbh, | [TB), | li;_"'H"' . 'Ei [E]_;E = 18
(aThhy 1{TB) | My “AHy (1) bl

12 Rallio of wavelenith of He s Ho of blismer series is | = |, then X is i
L
Ans. (7]
Sol, For Balmersees =2 - nz o 38,6
Far H —alam
BLIGRY o5 L = 8 (R0
P [T e
1 .. v __. {3
— IEH - -H | —
; FTauT T . _13_}
e ) = E e -
L:L IHHI—:T T o—
|:.-T,||. 18/ 3 i1
S5 X=27

13 Coagiilading walue of AIC]; and MaEClare 0009 20d 50 04 then rallo of coagulalirg poser of AIC]; and MaCl
is [Mearaak indeges)
Ans. (558}
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Saol.

Mg,

1%

Ans.

16.

A,
Sal.

7.

Ans,

1
Coagulafing power «

Coagulating valos
Cosgubatingpowerof AlICL, - Cosgulaiomg valeeof NaCl
Coagulalirg proverof Mal Coagubaling wahss ol ACE

_ 5004
008

= 556

Which combinaion of following number have same number ol significaton igure.
() LLOO252 {if} 1.0003 tiiip 15.0 Bvh 162

(Th A il b, oy

(2) L i, i only

(3} L, il oy

(4} i, ii, arly

(1) _

Miurribeef signifiteton Goue

(1) LOO252
(iiy 1.0003
(iity 15.0
{v] 1583

Ll LA ER L

Which cofmpound is added o redecs decompasilian ol HOs.

(1} kel

(2} urad

(3} sl

(4} glass

(2}

H:0; detomposes slowly on exposune o light

2H:0: () -+ 2H:0 ) + 0 [g)

In b presence of melsl surlaces or ireces of alkall (presan] & glass containgrs ). he dbove reaclion is
catalyssd Il is; eeedire, Slorsd i wa-ned ghsss or placlic vescolsin dark.. Unka can be added 55 5
stabiliser. 1l = kapl away oo dusl becawse dust can infuce explisie decongosition of he congownd

idendily e comect order ol vandes-waal conskant "a™ for Ar, CHa. HeOamd ToHg

(1} HeO> CaHe = Ar = THa

2k Ar > Hal > CHs = CeHe

(3} Ar = CaHg > M= CHy

() CsHa = Hell = {Ha = Ar

i4)

WVinder wall conslamt & depends o intermolacular forcs of sfiredion so correcl order ol & &
CeiHe = Halh = THa = Ar

Gas Vandar-waml constann] "a™ e L mal)
A 1.355
Celrle 1857
CHuy 2253
H-Oi 5.5348

Hiow mamy from folloadng orbilals bave 5 madis modes :
TE, 7p, 8= B Bs

(3)

Barmamamman Edonsamtoaerses | #el
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Sail.

s,

Saol.

12

Ans,

Sal,

21

fms,

Mipmidser ol radial nods = (-1

curfaila| riasrilier of radsal node. = {n-0-1]
{ij T= T-3-1= B
i)y 7o (T-1-1p=5
{im) 34 [8-0-1y= T
[ Bl (B-2-1)= 5
() B8 (E-3-1)= 5

Statement — [ ¢ S wader comlam 30 thnes sodum han polassiuen.
Statement — 1 : Sire of sodum = sraEber Buan pobyssim

i 1} Bolh skatements- and statements- are cornec].

iZ} Dolh ststemeants-] and siasbements-|| are incofrecl

i3 Sztermend-] & camact and Btedement - 1l &5 incorrecl

i4) Satement-l & incorrecl and Stalement-l = conect

{1}
Staterienta-l sodum g aboul M0 e ahondand 3s polassiuem in oo s,
Staimments-f size of aodnim s snaliler han polassium

The camecl ander ol acidily is:
() CFsC00H {B) Cris-COOM (C) CHe-COOH (B} CH-COOH (E) CHx-COOH

¥ il Hir
(MfA>B>=CxD>E A= C*B>D>E
(E=B=C>D0> A MID*E>C>8=KX

1)
| aflec of F = Cl = Br Al grasier (e saienl of -0 sfecl grealer The acidly,

The corsct ordes of 2l of fecleophilic ssibsliiuian wWlh sooecus NaOH E

MO,
aC, O Jill;m QC
C-Me : NO- , Ch
(&) {B) ic) ()
(jA>B>D*=C {ZIC>D>B>A
(BC>D*A>R M)B>D>C>A

2

Chlorobeniens underpoes somatic nucleophiic - subsliulion wE ceshenion livlesmedials in such a
resciion fpesler he M gioup NG, -CH =lc) of O & P posilion grealer e sabily of carbanion
il e fie g Tasisr e rale of reschobn,

1. Brs

CH:
N;E:H# 2. HaiPd Priduc
=
o 3. NaNOZHCI

2. CaiHsTHH

CHa Ha 1 |
r Br Er Br B Bi
(15 () {2 4]
KH: Br

)
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CH. CH:
— /@’ . - /& /@[ _NaNOJHCH
C:N
CH.
£ HOH
H..,EDE e
Ci Br

il Which reaclion i= s veed n ke oemabon of Ozone hole

" *
(1} CR=Ela{g} = =G| + CF,CI

(2h <1 = Oafgl s CI0g + Ofh

(3} CiDg * Ofg) — E'"-..- + Ol

|I1-:l Oy —a T ¥ 0

Ans. (4)

Saol. Farrialion of Ceone hole proceed wilh Be decomposilion ol dhimolucsocarbons and farnnation of C
iadical.

P ILFPAL neme al e given campound &

G- G~ CHe-CH—CH-CH,

CDH
1) 2-Malinyl-5-oxohsixencic i
(2) S-Carbaxyhiaksn-2-ne
{3 -Oxo-Z-catboxyhieans
(4} 2-Methylbeacan-S-tne-2-oic acnd

fns. (1)
W D
Sl EH-"';‘E'H-_C_:H-_"-“"‘EH-' » Frsaliy
B
1E".:H.'.!H

2-Kethyl-5-ox ohsxanic acid

24, The correch medch ol e arund ackds and hair code
List-l La=d-ll
{Aming acid) {Code}
(A] | Ghutasmine m_|Y
18} | Tryphophsan {ii] o
[(Ch | Trmsire {imil} | E
[0 | Ghstarmis scid fhl | W |

(11 A ={ii) : B — (W) : T - i) ; D — [}
(Z2) A=) ; B~ (i} C= i), O =E)
(3hA =i}, B— (). C—fl): O = {iw}
(A A — i o B - i) © i) D - (&)
Ans. (1)
Sol. Basad o fach.

Resonance Eduventures Ltd.
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23.

Aris,

Ans,

ol

Bt
@CI-H MaHC. Product =
|

fr [

{1l aH 12

i O
Br 0
)

Bir 2H
(3) w

Br

fdp
M
B Br
——— 0
%V\iﬂh P IIE M \@’D

& compseand {H} read] wilh Plhalic anlncride il a0 1o ko Y, ahich s -an mdicaior X and ¥ is
respecively

i 1} Balicyldehyde and Phenopalen

(2} Carboihs asd and Phenopliihslsmn

(3} Ansale and Melhyl Orange

() Ealieylic and Pherophiislen

(Z)

Carbhalie il = phepyol

o O




